% CERARICCDHRPAZTZR L BFRHCED TR ICHEBELTLIEE L,

Before beginning assembly, please read these instructions thoroughly!

7

\

D=V 74 V18— 27 —(RBE.6MIDA=5.0) | Laniain]
Carbon Rear Shock Stay (RB6.6/MID/t=5.0) |NST§N"E£§33$§EEET

BEWETFHYANES TEVEY ., CEARIICCOREGHAEE XY FOHBAEEL
EETEHRATL

Thank you for purchasing this product. Before installation, please carefully read and follow
the instructions on this sheet in conjunction with the instruction manual of your kit.

SEAEICEHORA TS T —Y v M
Symbols used throughout the instruction

manual, comprise: Kit included.

X O LU RT A U EN 3 BIEA D BRTEES,
@It can select 3 different type installing position for wing stay.

3x18mméCap) \ ) J /

m/

$32mn - Oy MEELBLRL
501 - wz;oé?]'asﬁﬂ?, OM736 [Standard position as kit standard

3x12mm UN740I2&E DIEE 3x12mm UM724BIz 255 DB S
1-S13012H When use with UM740 1-S13012H When use with UM724B

AR )N—Y SPARE PARTS * FOR JAPANESE MARKET ONLY.

N—UZ

Part Names

Xy TEZ(M3x18)(5A)
1-823018 | Cap Screw(M3x18/5pcs) =

Ra 2 EZ(M3x12)(~ v & Z/10A)

1-813012H | Bytton Head Screw(Hex/M3x12/10pcs) 300
|A=n—tEEoREBREERLT [ RER—LR—Y REA st

REICRICEELAEL &£, I www.kyosho.com T243-0034 =) BEATHT153
HEBBRDLD, FERMARETES HBANHYET, @ — YV HMMEEEEE 0462294115

*SPECIFICATIONS ARE SUBJECT TO CHANGE WITHOUT NOTICE.  SEVEH(E : AB-~ER(HAHZK )13 : 00~19 : 00
©2017 KYOSHO CORPORATION / Z&mpfas ko5 5l 60111702-1 PRINTED IN JAPAN



